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26.

27.

28.

29.

30.

SECTION-II

MATHEMATICS

Find the length of side of a square, if the length of diagonal is 13cm,

(1) 12 cm ) 6.5{2cm (3) 13V2cm @ 13 cm.

2.7% of 4560=? [choose two correct options]

(1) 12312 x 1072
(3) 12312

@ 123.12
(4) 12312 x 1073

A fruit seller purchased 50 dozen bananas at Rs. 40 per dozen and sold them
all at Rs. 52 per dozen. What was his profit percentage?

1) 26% (2) 30% 3) 32% (4) 28%

A rope of length 420m is cut down at 6 places at same distance. Then what
is the length of each piece in cm?

(1) 7000 (3) 700

@ 70 4) 6000

Which of the following statement is not true? [choose two correct option]
(1) The diagonals of a thombus bisect each other.

(2) The diagonals of a rhombus are perpendicular to each other.

(3) All angles of rhombus are congruent,

(4) The diagonals of a rhombus are congruent,

SPACE FOR ROUGH WORK
—_— TORK

0311/ Hindi Set-A

8of32 P.T.O.

26,

27,

28,

29.

30.

SECTION-II
wfore

A ol of & fomol 2 @i 13 9 @ @ sEE qem # o fee @ni

(1) 12 em (2) 6.5\2cm (3) 13v2cm (4) 13 cm

4560 1 2.7% = FREN 7 (A wEH IW gPMm)
(1) 12312 x 102 2) 123.12
3); 12:312 4) 12312 x 1073

Th FE fawar 3 40 w9 qfq S w1 W@ B 50 T RS @R ARk sed gt
FA 52 T W I F W F AN @ IN e whww o gan?

(1) 26% (2) 30% 3) 32% (4) 28%

420 HIX Sl THE T R T HR W 6 e H@ T T D FOF gHS
F1 oard faa G a2

(1) 7000 2) 70 (3) 700 (4) 6000

frafefen A A s weE R (@ W v g
(1) TEgds & fawel uh g w enReie @
(2) =S ® Aol uF TR W ww wn R

(3) TA=EHS & W R gEtrEE @ ¥

(4) guEgds & fawel watmm @R )
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31.

32.

33.

34.

A side of cube is 12cm. Such three solid cubes are melted to form a cuboid.
If the base area of the cuboid is 144 sq.cm then what is the height of that
cuboid? [choose two correct option]

(2) 0.36m

(4) 0.12m

(1) 36cm
(3) 12cm

Which of the following statement is correct?

£ 43 . A
(1) The rational number 20 s on the left side of zero, on the number line,

3 -17 . F
(2) The rational number g ison the left side of zero ,on the number line.

. 270% 4 .
(3) The rational number 20 is on the right side of zero on the number line.

-8 3 e -
(4) The number = and ;m’e on the same side of zero, on the number line.

The number of boys in 8th standard in the school are less by 10 than twice
the number of girls. If the total number of students in the class is 71, then find

the number of boys?
(1) 44 ) 61
@3) 54 “4) 64

Which polynomial should be added in 2x° — 3x + 1 to get the polynomi:ll
3% + 5x + 17

(1) 255+ & (2) —2x5 — 8x — 3x2

(@) 2° — 8 4) -2x° + 8x + 322

SPACE FOR ROUGH WORK
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Rt T F e 12 AW ¥ U@ @ A weEA e oF we dar fwm

31,
Ifs AW H IMT FHT AFGA 144 i A @ Al gAY B FAE fEad #n?
(A @ fawen gfm)

(1) 36ecm (2) 0.36m
(3) 12cm ) 0.12m

32, frefafad o | FF-T w91 ad 37
(l)% g Uty wen, wemnd W Y & adl i e @

() %;— 48 R Hew, e Wy ar s e ¢
() 2w wfelw won, wort w @ # el i s ¢
@) -78 m;ammwwﬁmammﬁ

33, fedl T & o Fa1 B @SH @ G wSfRAl B WA ® FH A 10 FH
3 a3 wET N e fAiE w e 71 8 @ aewl @ gen fae 82
(1) 44 (2) 61
(3) 54 4) 64

34, @R 26—+ 1 B FEEN S fF AER x+Se+ 1 WW @2
(1) 225+ 8 ' @) 205 - 8x— 322
3) 2 — 8« 4) 225 + 8x + 322

SPACE FOR ROUGH WORK
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35. Few chocolates are there in a bag. If these chocolates are distributed equally (o " R E N e e
12 children then 8 chocolates remain and if equally distributed to 14 children 35, TF deft | E@ Tiferat &1 39 '7 T3 H 12 Fﬁfllﬁ W E!fl TuH w9 § faaf@
then 10 chocolates remain. Then how many chocolates are there in the bag? F W 8 T 9w ¥ S 14 wEH AT B R3] @_
@ 30 @) 28 FE W 10 TifeEl 9 @A ¥ Fane 59 deft § w9 ¥ F9 e e e
(3) 80 4) 84 (1) 30 2) 28
e i (3) 80 4) 84
36. If the length of one diagonal of rhombus having side 25 cm, is 14 cm then
what will be the length of other diagonal? 36, frelt woaqs ® e @ 25 A ) afk see s fawel w1 oA 14 @
(1) 48 cm @) 14 cm & @ gE fasol &1 e A Erm?
(3) 25 cm @) 31 ecm (1) 48 cm (@) 14 cm
3) 25 4) 31 cm
37. Balbir Singh purchased a machine 2 years ago for Rs.62500. If the value of 2 = 6
machine decreases by 8% per year, then what will be the value of the machine 37. FER fHe 3 F 49 2 99 & 62500 T § @i o 3fz 39 9 F1 FkEa
today? 8% WEd F W A FH A W A A A sEH FAG R e
(1) Rs. 53,900 @) Rs. 52,900 (1) Rs. 53,900 () Rs. 52,900
(3) Rs. 52,800 4) Rs. 52,700 (3) Rs. 52.800 @) Rs. 52,700
38. The measure of an inscribed angle of circle is 65°, then what will be the 38, g9 F UF SiafeifEd FU F WY 65° ¥ A IHH gA Hd:Efed =Y B kLA Eaut
measure of central formed by intercepted arc of that inscribed angle? %1 T fEaa 2m?
(1) 65° (2) 120° (1) 65° @) 120°
o ] 1°
(3) 130 @ 32 @) 130° @ 32
39. One shopkeeper gives 8% discount on printed price of camera, if he sold the 39. TH IFER F F BT FFG W 8% FI T <A1 % Az IF TH HHT 4600
camera for Rs. 4600 then what is the printed price of camera? T § I @ IW hEL 1 oY HWd fRaA @2
(1) Rs. 5000 (2) Rs. 4592 (1) Rs. 5000 (@) Rs. 4592
(3) Rs. 4608 (@) Rs. 4000 | (3) Rs. 4608 (4) Rs. 4000
SPACE FOR ROUGH WORK y SPACE FOR ROUGH WORK
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40. What is the cost of fencing the circular garden of radius 21 m with three rouns 40, el gt @m w1 e 21wt 3 3@ am F TR @R A WL AR H A8

S50 o % 0
of wire, if the wire cost Rs. 60 per m? AR # fau 50 T Wi HeX H1 S W ke fhan @ wim?
(1) Rs. 2,3760 () Rs. 23,740
(1) Rs. 2,3760 (2) Rs. 23,740
(3) Rs. 22,760 (4) Rs. 22,740
(3) Rs. 22,760 (4) Rs. 22,740

41. The ratio of measure of complementary angle of one angle with its measure of
supplementary angle is 2 : 5, then what will be the ratio of that angle with its 1

41.ﬁﬂﬁaﬁw¢aﬁfe{mwa%maﬁtmaﬁwa%mwa§m2:sﬂ

supplementary angle? @ 3@ Fm v . i % i il
1) 1:10 @ 1:5 I @™ 15910 @ 1:5
G) 3:10 @ 1:15 () 3:10 (@)
42. :::gcl};vside of the equilateral triangle is 22cm, then what is the area of that 42, o g Bs 1 OFEE O A el 22 SRR s S
? ‘ e @2
(1) 66 sq. cm () 121 sq. cm () 66 = @) 121 =i @
(3) 12043 sq. cm @) 1213sq. cm (3) 12043 =t @ @ 12137 @
43. Arpita scored 20% marks less than Aj j
jay, then h
e y. ow many % marks Ajay scored 43, afx S A IO A 20% FH IHF WD L @ @ @ et @ fwa g
sy S sfu id faet?
3) 5% @) 10% ok = o
: @) 5% @) 10%
44. 10.5x10.5+ 15%x 10.5+7.5%7.5 o
10.5+7.5 N
+ 2 W: fea 2
(1) 18 2) 17 (1) 18 : @ 17
3) 3 @) 15 @) 3 @ 15

SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
—_— " WORK
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45. The difference of the sum of prime numbers and sum of composite numberg

46.

47.

in between 11 to 20 is completely divisible by which of the following numbers?

@A) 2 (B)5 ©7 D) 13
(1) A and B (2) B and C
(3) Cand D @) A and D

In fig. line AB || line CD and line PR is their transversal. If we draw angle
bisector of both pairs of alternative angle then [J PQRS is formed, Name the
type of [J PQRS.

(1) Right angle quadrilateral

(2) Kite

(3) Square

(4) Trapezium

The diameter of wheel of minibus is 0.7m, the find the distance covered by the
wheel in 5000 rotation.
(I) 14 km () 12 km

() 10 km @ 11 km

SPACE FOR ROUGH WORK
e
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45. 11 ¥ 20 TF & 9T wEAE ® AMee U4 wgE wemsl & dned B 3

¥ fAfafas 4 @ fra-fea gemet @ 9w am s 22
(312 (s 7 @13
nm'sa's'‘s’q @ ‘a3 ‘g 9

@) 'a"' a7y (4) ‘ata ‘g J

. W A H Y@ AB || CD @@ T@r PR faefwm Y@r @) uwia w00 1 O2Ef

Sifeal & For wafgas @ W AR 2R aren @gHs PQRS FRE whR @
~gds gm?

(1) FHE Tggs
(2) 9dn
(3) =
(4) wHEa wgHs

‘wﬁﬁwﬁmmmmﬁ.%laﬁmﬁmﬁsomﬁma’t

g 4 faa @ @@ w02
(1) 14 faeft
(3) 10 feet

(2) 12 fwst
(4) 11 st

SPACE FOR ROUGH WORK
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48. The measure of an angle is 14

49.

0°, then which of the following statement is not
true?

(1) Can draw its complementary angle.

(2) Can draw its supplementary angle.

(3) Can draw its opposite angle.

(4) Can draw its linear pair angle.

The co-ordinate of point P is %5 on the number line. The distance between

point P and Q is 4 then which is the co-ordinate of point Q? [choose two correct

options]

5 o
) 45 @ 35
~) 1
(3) 43 @ -3
50. By melting of a solid cuboid of length 16cm, breadth 11cm, height 10cm, how
many solid coins of 0.2cm thick and 2cm diameter can be formed?
(1) 2200 (2) 2400
(3) 2600 (4) 2800
51. The curved surface area of cone is 188.4 sq. cm. The radius of its base is 6
cm, then what is the perpendicular height of the cone? (m = 3.14)
(1) 6 cm (2) 8 cm
(3) 10 cm (4) 31.4 ecm
SPACE FOR ROUGIE WORK
0311/ Hindi Set-A 18 032 PO

48,

49.

fdlt i F:1 WO 400 @ A FEAfafEd § @ SE-E wE SEA @2
(1) 391 Fifeqeaw Hor =3m

(2) 81 HYF FU 4

(3) z9a1 wiwifaga ==

(4) w1 Waswgne Ho =3

weman W p fig w1 v O #1p W Q fags @ A 4 THE F S A
amet fF fag @ w1 fdwid fram @m? (} ¥& W= Ffw)

5 4
1 43 @ 35
5 1
(3) 4 @ -5
50, 16 ¥t @@, 11 A A2 uwd 10 Geit. FEE A 9ig b UH S A ket
02 ¥t "R U 2 AW oE A fhad faa daw U ST RN
(1) 2200 (2) 2400
(3) 2600 (4) 2800
51, Mﬁ'maﬁm 188.4 = |ft. qem amum w1 G 6 At @ At v
F ofa Sar R @AM (n=3.14).
(1) 6 @t (2) 8 |+t
(3) 10 At (4) 3.14 il
SPACE FOR ROUGH WORK
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52.

53¢

54.

SS.

—512x17 + 64x8 = 2 [choose two correct options]
1) 2%° @) -8
3) 2%° 4) 8°

The average age of boys in the class is 15.5 years, while girls average age is
16.5 years. The average age of total students of the class is 16 years. If there

are 30 boys in class then find the number of girls in class.
1 15 2) 16

3) 30 ) 60

The number 3 * [¢] 6 is completely divisible by 3 and the digit at place of
* is greater than 1 by the digit at place of [+], then find the digit at place of

07
1 1 @) 2

3) 6 “ 9

What is the sum of additive inverse of (7a + 2b + ¢) and additive inverse of
(5a + 2b — 5¢)?

(1) 4Ba + b —¢)

2) 4(Ba-b -0

(3) 4@Ba-b-c)

4) 4Ba + b - ¢)

SPACE FOR ROUGH WORK

0311/ Hindi Set-A

20 0f 32 P10,

52. 5127 + 6428 = fohdT 2 (3 W waig gfm)
M 2% @) -8
(3) —23X9 (4) 8X9
53, frddl Fanm # @=H *1 g o 15.5 a6 a9 wgfEA H sfEd A 16.5 a6
?1 9fE wen  w=H F Wew 30 @ aW w A # o 1 oshwd 16 @
B A W ken ¥ fwad wefEar 22
(1) 15 (2) 16
3) 30 4) 60
54, e 3+ [¢] 6 ¥ 3 @ fr99 9m S @1 AE ¢+ FH WE K b [¢] B W
ae ¥F Q UF AuF @ d ¢ B E W RE-E b ML
1 1 2) 2
3) 6 @ 9
55. (Ta+2b+c) B HATE WHENH 3T (Sa +2b - 5¢) F HAHE e H ATH
foen @m?
(1) 4QGa + b - )
(2) —4@a -b -0
@B) 4Ba-b-c)
@) 4@a +b -0
SPACE FOR ROUGH WORK
0311/ Hindi Set-A 21 0f 32 P.T.O,

Scanned with CamScanner



/

Q@ W Q W
W @ W
T R dan e nundee of soms o Ry 20 and R 3N e Ry 400
il Dan Bnd Do eu nuder o T i ha?
@ 2 QX
& W @ W
N M ane o 3 QR B 2D 8y o, Ben WA R poeaeeee?
@ 2 om Qus‘u
S 3w @ N

DA NN Tk o D ThANN 200 QONNINS Want, T R Wane & e
Tk of lorgdh 220, ol IR o, Rt Tom B Geoppad han WA &

FRORES 30 Ehe Rovel of wane ¥ WY
@ 2em @ I
Q@ IS am @ A @

o0 had&ﬂmﬁ.me\m%mmt&mm&
comrer ¥ o, Find the s of M Ak

@ 7om @ 1S am
@) 16 om @ Qaom
STAGH O NOUGHWORR

!i 0311/ Hindi Sot-A Not

AR B8 @R
N\

@ W @ w2
Q W @ W

S THIRAR NN NIV N WA RS
T LR e R

R R 2

® N @ 3

Q WS Q@ W
a“ﬂw“wﬂ“ﬁimmmm

Q) 82 W @ W W

@ 23 W @ 22 W

S S T A T SR W W W R W e ﬁ\wl"c
ﬂwi\nﬁtuunwﬁﬁnvnw‘n 3
A T T W W D N AW A
2 W TORE
@) 33 W @ 23 W

Scanned with CamScanner



61. A hall has length 28 meter and breadth 10.5 meter For flooring this hall, square

tiles are to be used of half meter side then how many tiles are required?
(1) 1180 (2) 1150

@3) 1176 @ 1126

62. Add the polynomials Sx* — 2v and 24® — 7. What is the degree of the sum of

these polynomials?

7 @ 4

@2 @ s
63. L —Cthenx = 2

1 4 @2 3

@) 2 @ 1

64. If the measures of two external angles of a triangle are 60° and 130° respectively,
then which type of triangle is it?

(1) Acute angled triangle
(2) Obtuse angled triangle
(3) Right angled triangle

(4) Equilateral triangle

SPACE FOR ROUGH WORK
—_—
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61, W WG W el 28 e aen s 105 W Boww w3 ww s s
BRI L R R I e e g gp—— e

(1) 1180 (2) 1150

(3) 1176 4) 1125

62, 5¢'-2v I 20-7 W ShEN W W age @ R FEE o

()7 @) 4
3) 12 “) 5
817 x27°
63, W=X @ ox= feman?
(N4 2 3 3 2 @ 1

64, fre fayst & < afewhiot & WY FwwA: 600 qA 300 A A AT BN BFE TER
H FM?

(1) =g Fos
(2) srfersRion s
(3) wwHT s
(4) warg s
SPACE FOR ROUGH WORK
0311/ Hindi Set-A 25 of 32 P.T.O.

B ifasssasa—— L . e

Scanned with CamScanner



percent when he sold a car which he bought for Rg,

. it ma fit of 6 , A ;
= ?‘(’)‘(‘)‘t}(‘)‘g“: i lh total money did Rohit get after selling the car? o 1T T 5 @ T A wd Ak Bl
.00, ow much tota @ W e v fie?

(1) Rs. 5,20,000 (1) Rs. 5,20,000

(2) Rs. 5,10,000 @) Rs. 5.10,000

(3) Rs. 6,00,000 (3) Rs. 6,00,000

(4) Rs. 5,30,000 @), R 530000
66. The length of perpendicular sides of a right angle triangle are 7cm and 24cm
respectively, then find the radius of it's circum circle.

66. TH TAH YN H gEH AR Al qeed #1 w7 W uE 24 Fd F
39 faqs % ufgw #1 B feed @i

(1) 125 cm (2) 25 cm

(1) 12.5 |+ (2) 25 @t
(3) 12 cm 4) 6.5 cm

(3) 12 (4) 6.5 &t

67. There is decrease in sale of object by 10% due to increase in the cost of object

by 10%, then what is the profit percent or loss percent in this transaction? 67. TRt a&g #1 ®iwa § 10% IfE TH W IFH @I 10% FA & T W R

i faraa wfaed =1 s @ = @R
(1) 1% loss (2) 2% profit i

2) 2% ¥

(3) 3% loss @) 1.75% profit (1) 1% @ (2)

(3) 3% = (4) 1.75% @4

68

Yogesh deposited Rs. 32000 in a bank for two years on simple interest, After

maturity he gets Rs. 38400, then what is the rate of interest? 68, ANy 3 UF AF F 32000 TH WERY SN F R H 2 A4 & fau s fFHAN

(1) 12 p.c.pa Ifs s T B T IH 38400 T WE T A AN Kl R w2

(2) 15 p.cpa (1) 12 3399

(3) 18 p.c.p.a (2) 15 3959

(4) 10 pc.p.a » (3) 18 99549
(4) 10 9999
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69. In the following frequency distribution, height of 20 students of a class is given.

From the given data find the mean.

Height(cm) 160 161 162 163
Number of boys 4 6 5 S|

(1) 160 cm (2) 161.55 cm
(3) 1625 cm @) 161 cm

Question 70 and 71— The percentage production of crops jowar and wheat in four
villages is given in the following sub-divided bar graph. Observe the graph and

solve the following questions.

70. The production of jowar in D village is more by how much than the village

B?
(1) 10% 2) 20%
3) 60% 4) 80%
71. Find the ratio of wheat production of village A and village C.
1 6:5 2) 5:4
@B)3:2 4 2:3

69. Tl wam & 20 fomfohi # s W awEw fawo A Do 2 R e

R W 3T F9E 1 Aeg fmaT @2

T (W F) 160 161 162 163
faenfd=i 1 @@ 4 6 5 5

(1) 160 |t (2) 161.55 |t
(3) 162.5 |Ht (4) 161 §wt

WIT 70 F 71 9 Tia & W a4 SR & SedRd &1 wiave Frefatan @ gr
et T ¥ sEE frham w fu o we @ see

cale’| -

70. D a @ TR F IAEA BIE B R B IAEA § Fhaw fuw #2

(1) 10% (2) 20%
3) 60% ) @) 80%

71. Atﬂaﬁﬁ{ﬁwmc*ﬂa%ﬁi%mwmmm;

@ 6:5 @ 5:4
(@) 3:2 () 2% =
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72. Which term should be added to 100.:%{—; from the following to make it 72, FIE 100)«':+% w1 i N @ fon fefafea § @ SE-w 9= St 92T
complete square? [choose two correct option]

(3 5@ 3w gfm)
1) +5xy 5,
LSS @RS (1) +5xy (2) Sxy
25x 25
&) -5 ) s 25x 25
4y 4 3) e 4) -Tx)

73. If 18 labours take 15 days to complete one task, then how many days will
6 labours need to complete the same task?

| 73. 18 TORX fRE @ F 15 R d W wE ¥ @ @ W F 6 TR T KA

g qu w1
e aye @ 0iays (1) 3 ) 90 f&A
(3) 5 days (4) 45 days @) 5 (4) 45 B

74. From the following, select the factors of polynomial (2x — 3)3 + 125. 74, TofefEd o @r—37 + 125 & PHES - 2
(1) 2 &+ 1) (@2 — 22x + 49) (1) 2 (x+ 1) @x* - 22x + 49)
@) (x+ 1) 4x® — 22x + 49) @ &+ 1) @ - 22x + 49)

(G) 2 (x—1) 4x* - 22x + 49) (3) 2 (x - 1) (@2 - 22x + 49)

@) x-1) @x% - 22x + 49) ‘ @) (- 1) (@22 - 22x + 49)
0036 235 1 _ : o 0036 235 1 _ e 3
B oD e 75. 56 005 6

(1) 0.547 @) s (1) 0.547 @ s

3) 0.47 4) 5.47 @3) 0.47 @) 547
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